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9¥ 93 & / Que. Paper No.:  1V/22-23 /Mathematics/
SfSTH g0 W S@T / To be filled in by Pratishthan
3T 1 f9av1 / Details of Marks
fawa / it / e / e % SR
Subject Max. Marks | Marks obtained Sign. of examiner
7T /Mathematics 100
fereg - aTfor

T fohed & | (v') 798 18T/ Mark (v') against the correct option 10x2=20

T1 GHE 4+ 3y% + 2 H y? FIIIF & |

The coefficient of y?* in the polynomial 4x* + 3y + 72 is

&) 4
@ 2

) 3
@ 1

9.2 g M@ 2] LT | a1 g4 e s Ent |

The diameter of the circle is 21 cm.-then the radius will be -

@) 14
@) 7

9.3 3°x 3’ ®AMERT | The value of 3° x 3° will be.

(33[) 325
@ 3

94 feuImat®e2,1,1,2,3,1,1,3 % ESFE |
The mode of givendata2,1,1,2,3,1, 1, 3 is-

=) 1
® 3

@ 2
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@) FHEH
(a) 310

@ 3

@) TE dHE T
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9.5 @89G P(x) = x + 3 FT I &R Tl |
A zero of polynomial P(x) = x + 3 will be -
(&) 1 @ 2
® -3 @ 4
96 X+ X BA-ATGHEE | /Which type of polynomial is x> + x .
() e TgT] (@) FreEd g
linear polynomial cubic polynomial
(@) fgemd ague (@) T EFE
quadratic polynomial none of these
9.7 3 A e SHIE H ST €9 &6 |
A general form of linear equation in two variables will be-
() ax+by+c=0 @ fax+c=0
@) by+c=0 @) = @ HiE T
u.8 23 fa-iheH HEA F QY HEd1 § 95 I e & |
The value obtained by converting 23 Vinkulam number into normal number
will be -
() 17 & 27
@) 37 @) TH A HE T

U9 I % e folvg S TRIY HT S a1 30 FETl & |

The distance joining the center point and the circumference of a circle is

called.

(31 ) g
Diameter

@) &=
Center

C)

@)

o

=SR2

Radius

T4 Q Fis A&
none of these
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9.10 T HA-G1 @&l % | What kind of number is 1t -

() qREa @) MURET
Rational irrational
(®) o € e @ T A
neither rational nor irrational none of these
<k Tl 4t 9fd KT | Fill in the blanks. 5x2=10
9.13 O I IEFH ... g1 (a% /%)
The bulk of a cube is .............
11 I B HE T B Y Raa® | (IR / )
The center of the circle lies in the ............ of the circle. (External /Internal)
915 (el ST STl SR SR T &AM o FESA & | (ST / IEa)
The space occupied by a solid figure is called ......... (Area / Volume)
U012 9RET & ... 2l (2/m)
Rational Numberis .............. (% / )
U.14 IR H RS B G e B E | (6/ 4)

The number of facesdin a cuboid is .............

HEI-SS! @M FIRTY | Match the correct pair. 5x2=10
9.16 feoTd 9g9g @) x=-1
quadratic pelynomial
917 x+1=0 @ xX*+2
9.18 2 = AT YRk GHIHT @M V2

linear equation in two variables

W19 STARHT H@E&J () 9x+4y+1=0
irrational number

920 9RHG €& ) ®

rational number
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A 1 G dd=q, | /State true or false. 5x1=5

Y21 Tk B S E 99 § OF FH” S8 |

Eknyunen means "one less than the previous".

922 1% WHRA F 9 E | / The parammitra digit of 1 is 9.

¥.23 R 921 % GRiad: GRUH F1 @EdcHE | Tl FESl 2 |

The numerical value of the possible outcome of an event is called the

probability.

Y24 T UF GREG GEA R | / 7 is a rational number.

9.25 &9 3D (FBifafte empfd) sm & |

The 3D (Three dimensional figure) of a square is cube.

TF T H I fRaq / Write the answer in one word.

U.26 GHHIU RIS ) Hod aS) ST ®i | a2
Which is the longest site of a right angle triangle.

5x1=5

-

[aNll aN

9.27 SEEE (TRARINE) T ST
Write the Bodhayan's (Pythagoras) theorem.

9.28 & 9 [RaT |

Write the Hiron's formula.

9.29 g H gt e gy SR I &1 1 FEST & |

The area enclosed by two radii in a circle called?
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9.30 {Rel SFERTE S 3 fo SRR 1 AW 2l € |
The value of probability of an impossible event.
SIS 52 / Very short answer type questions 5x2=10

9.31 Uehega G901 G ERT IUHEHRS Fd FX |
Find the product by the Eknyunen Purven formula.

214 x 9999

9.32 WU F ANTHRS A AN | Find the sum of the polynomial.

(x> + 5) + (2x* + 5x +.5)

9.33 fod T e F IREX 1A FIWS | / Find the range of the given data.

1,2,3,4,8,1,2,3

934 9 %I GE9 FS! a1 H A fSRa |

Write the name of largest chord of the circle.
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9.35 [FRacH 1 § ANThHS ST ST, | 1234 + 888
Find the quotient using Nikhilam's formula
SYSTUA &1/ Short answer type questions 5x4=20

U.38 Tk HAEIT Hersa™ § & #ei # (Mraiqa =99 g7 6! U8 Mo g d2Ned |

In a business establishment, the expenditure incurred onwvarious items in

the following way. Shown it by bar graph.

Hq [tem 4 (TN H)
Expenditure (in thousands)
9ad salary 500
1 =99 traveling 100
expenses 200
e rent 200
31 =99 other expenses 100
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9.36 i 99 F1 =4 10 .1 &, d B fhaw .19, &nt |

If the diameter of the circle is 10 cm. , then what will be the radius?

9.37 GRUY EEA1 H IPARS A HiTT |

Find the product of the rational number. — —=Xx _74

-2

9.39 IS I Brean 14 |, B, 99 i GR id i |

If the radius of the circle is 14 cm., then findthe circumference of circle.

.40 %aﬁig%éﬂﬁifq&ﬁaﬁwﬁ@aaﬁﬁqn

Find two rational numbers between % and é
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Seigd 5= / Long answer question 10x2=20
941 9 I A 7 Q.. B, A I I IR T SRS 0d B |
If the radius of the circle is 7 cm., then find the circumference and area of

circle.

942 AR I TN EHEATa =10 cm, b=10em, c =10 cm ¥ , 3 &= G &1 5@
T SRS T A
If the measures of three sides of a triangle are as:a =10 cm, b = 10 cm,

¢ =10 cm, then find the areausingHiron's formula.

10 cm 10 cm

10 cm
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